DO -2x+1>3x-1 @—x+1<2x—3
4

@ —-x>x+4 (@)gx—ZSx—l

® 3(x-1)<5

B

@ —x+1<2x—3°]A
x=3°H -34+1<2x3-3 (%)

@ gx—ZSx—loﬂ/ﬂ

4 )
x:30]Eﬂ§x3—233—1(7§)




=

oo

F [ ] 9ol 47 Fol R 549 sk obd AL

O x22x [-3] @ x-3>4 [§]
® 4x-2<x [-]] @ 2x+3<9 [3]
@sx+1>2 [0

B

@ (-3)=22x(-3), -3>2-6—>%
@8-3>4,5>4->%

@4x(-1)-2<(-1), -4-2<-1,-6<-1-%
@®2x3+3<9,9<9->%

®1>2- AA




4x -2 > 75 Fo] HA| ste 7P A2 A

D1 @ 2 @3 @ 4

x=19d,4x1-2=2>7. AA
x=29 9, 4%x2-2=6>7.. AA
x=39 4, 4%x3-2=10>7.. %




BEX 2r-3> 2 9] 52 B ok},

Ox=0¥d,2x0-3=-3>2(AA
@x=191,2x1-3=-1>2(AA
®x=291, 2x2-3=1>2(AA)
@x=3<m, 2x3-3=3>2(F)
@Ox=49 1 2x4-3=5>2(F)

)
)




BS54 x(a-4)-2< -8 9ol F F&gko] 2 € o, A4 a o F2?
(T a<4)

@ o o)1 ® 2 @ 3 ® 4

B5A x(a-4)-2< -85 As5tA
x(a—4) < -6
—6

- .
x2-—— (- a<4)
oM x o] F4gko] 2 0]BE
-6
a—4_2
-6=2(a-4)
-3=a-4

Ta=1




#2540 oorx X g ol Hugel 2 A W, R B 44
are

1 2 1 3 3
©3 @3 -5 @; 3

B

254 oo _%" 3 o] akio] 12 = Foto] FelshH

—4a — 24x > —9x — 36 A4 —15x > 4a — 36
< —4a + 36
= 15
Z|Hgto] 2 o|B &

—4a + 36
15
—4a+ 36 = 30

—4a = -6

=2

La=

N w




£ whEste she] Hoigo] -1 A uf, o

@2 o0 033 @©3x2 Ou

H54 14-7x > £ & A
28 — 14x > a oA -14x > a - 28
B a—28

T 14
o] | gigko] -1 o]B 2
a—28

=-1
~14
a-28=14

T a=42




254 2ED 5 o P23 o) ool -2 Fate] Helet
2(2x 4 5) = 6a — 3(2x — 3) °f| A
4x 4+ 10 > 6a—6x+ 9, 10x > 6a — 1
N 6a -1
10
s T 7HE A2 70 o]l BR
6a — 1
10
6a =1

=0

1

La=




54 dx+a > 5x-2F &S

a®l F2?

Fe Zpedgs o] AZ=7 1 A Y ), A

2
e

4x +a > 5x— 25 A5t
—-x>-2-a, ..
o] H = Xlo

x<a-+2

HeAo] TEste M Wl A vt 1ol ER

at+2=1

La=-1




10.

1= A=y —

254 2 .

o, 24 a 9] 727

@ 5 @ 6 3)7 @ 8 ® 9

6x?—)|—9 : 2x;—6 < o= A5

2x+3-(x+3)<a

2x+3-x-3<a

L x<a

grEshe 9] to] R%o] A5 6 oo SRR 7 <a <8
o] wlojof gt

watA] ¢ = 70Ict,




11. P54 7x-3a < 4x S WESFE 2495 29 A7k 24D o), 45
a9 A%3L?

o1 @2 ® 3 @ 4 ® 5

B \

Tx — 3a < 4x = A 2|5HH

3x < 3a, S x<a
9 B0 RIS W9 o] Adge] A4t 2ol R
2<a<3

whebd o o H4ghe 201




12. $54 -5x—a < -6rE WEFE 445 x0] 574D o, 45

a] o) WAL

@ 2<a<3 @ 3<a<4 @4$a<5
@ 5<a<6 ® 6<a<T

—Sx—a<-6xE AESIH 5x+a>6x, x<a
ThEsh= HY ol AFde=1,2,3,4 BolojofstE2 4 <a <5
o] E]ojof ghrt,




